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OADHY AISTZAL ZAR
60,000& = 1821 = 303l 32,400
OBMEA &XI, 82 & 224l
7,600,000& = 14 7,600
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Mo NAHEEUR =8
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401 Al HIZ 201 Y| 30,000 0 30,000
01 A& HI 30,000 0 30,000
OJt28g ot e 4Xl 10,000,000 = 200 & 20,000
O &X 10,000,000 * 1JH £ 10,000
NAHE S 223 4,410 39,900 A35,490
202 04l 4,410 39,900 A35,490
01 S LHOIYI 4,410 0 4,410
OAMAEEUH bl
70,000& = 3¥ * 7@ * 33 4,410
sHELAESEE =4 40,000 40,000 0
SHELAEISHE el &l 40,000 40,000 0
tHalse 43 40,000 40,000 0
201 Let2dE] 40,000 30,000 10,000
01 At 22l 28,000 30,000 A 2,000
O (8%, JIEE 8) M
13,000,000& = 14l 13,000
OH™ES MA(=, &, 8)
2,500% * 2,000% = 35 15,000
03 &Ar2 I 12,000 0 12,000
OFQYUA 2E282A 2F  6,000,000& * 23] 12,000
HE2AZH (S MUE F2 ) 46,888 50,888 A 4,000
Jl2& bl 46,888 50,888 A 4,000
Jl=Z3 46,888 50,888 A 4,000
201 Let2dE] 21,888 21,888 0
01 At 22l 8l 21,888 21,888 0
Oget=&H| 11,328
cHF AR ESHI 200,000& * 123 2,400
SANRII ABF F+Y 500,000& = 12& 6,000
SHR2REZ 18,000& * 8% = 128 1,728
oAl S4H| 100,000& * 123 1,200
O= &l 10,560
ool IAlY
8,000& = 10€ * 128 * 113 10,560
202 O4dl 22,000 22,000 0
01 = LH 4 Hi 22,000 22,000 0
OJlz2gse =& ol
50,000& = 10 = 118 « 43 22,000
203 YR =&l 3,000 3,000 0
04 RENSELRF=LH 3,000 3,000 0
ORM2YE g2 250,000& * 123 3,000




